CHM152 Quiz Sa  25Pts Spring 2011 Name: K%
1.(5 Pts) What is the pH of a 0.46 M solution of sodium propionate, NaC3H;sO,, at 25°C? (For propionic acid
HC3H;0,, K, =1.3 x 10” at 25°C.) x >~ e
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2.(2Pts) The hydronium-ion concentration of a 0.050 M solution of'a weak ac1d_1§6 9x10°
acid-dissociation constant is 1.37 x 10™ at 25°C. What is the pH of this solution?
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3.(4 Pts) What is the concentration of HCO;™ in a 0.031 M solution of carbonic a01d, H,COs? For carbonic acid,
Kq=42%x10" andKp=48x 107",
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4.(4 Pts) A 0.10 M aqueous solution of a weak acid HA has a pH 0f 4.00. What is the value of X, for HA?

HA + H:LO = H3O*+ﬁ
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5.(4 Pts) What is the pH of a 0 52 M solution of methylamme (CHgNHz, Ky=44x10") at 25°C? S

CHyNH, +tho 2 CH VRS + OH 4y v x> % rule ?
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6.(2 Pts) What is the pH of a 0.035 M HClO, solution? |
Sf!‘m? O-cid [;.‘;/f = Lo;, 0,035 "‘

7.(4Pts) What is the pH of a solution that is 0.15 M in acetlc acid, HC,H;0,, and 0.74 M in sodium acetate,
NaC,H;0,, at 25°C? K, of acetic acid is 1.8 x 107 _5. Cx)[o T4 -;-O =g ru&z
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CHM152  Quiz5b  25Pts Spring2011 Name: )l%
1.(2Pts) What is the pH of a 0.077 M HCIO, solution?

Sty Aad pl= Loy 0,077 =([1I

2.(2Pts) The hydronium-ion concentration of a 0.050 M solution of a weak acid is 5.7 x 10° M. The acid-dissociation
constant is 1.37 x 10 at 25°C. What is the pH of this solution?
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3.(5Pts) What is the pH of a 0.50 M solution of sodium propionate, NaC;H;O,, at 25°C? (For propionic acid,
HC;H;0,, K, = 1.3 x 10 at 25°C.) Y >
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4.(4 Pts) What is the pH of a solution that is 0.27 M in acetic acid, HC,H;0,, and 0.80 M in sodium acefate
NaCoH;0, at 25°C? K, of acetic acid is 1.8 x 10°. (k) 0. g0 + X -’ﬁ}
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5.(4 Pts) A 0.10 M aqueous solution of a weak acid HA has a pH of 3.00. What is the value of X, for HA?
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6.(4Pts) What is the concentration of HCO; in a 0.028 M solution of carbonic acid, H;CO3? For carbonic acid, K,

=42x 107 andK,=48x10"". CHyor I [HC o x )
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7.(4Pts) What is the pH of a 0.63 M solution of methylamine (CHsNH,, K, = 4.4 x 107*) at 25°C?

CHyNHy + Hao = ChAgWA, ¥ 4 op” TP X% (5 Frele ?)
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